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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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G3-4_0




00
0.75
0.50

1913 49P[°13 4913 1d°13 s![°13 ©S§3

-0.25

1013

-0.00

'eqld

--0.25

yd

-0.50

-0.75

d4dd

ETol ETbai pR pVPD VN | PPFD T RH

ESo

ETcl ETcldef ETcP ETcPT ETclis



ETol

RH

VN

400 ~

300 -

250 ~

1700 -

1600 -

1500 -

1400 ~

1300 -

1200 -

1100 ~

26

24

22 -

20 A

18

16

®

68

66

64 -

62

60 -

58 -

56

350 -

300 -

250 -

200 -

150 A

350 ~

325 -

300 ~

275 A

250 -

225 -

200 -

T
250

T T
300 350
ETcl

400

T
1200

T
1400
ETol

T
1600

17.5

20.0

22.5

25.0

55

60

RH

65

T
200

T
300
VN

200

250 300 350



hour

100

20
25
80
30
35 - 60
:15
135 - 40
:50
20
105
125
I I I I I I I -0
R SR H &
é§¥ égr %ﬁ» & éﬁ“ 4? %;5 %gr



G3-4

BFE) | GEBRTIK () | =S (EF/F) | XS R

06:20 88 50.0 5| THR06:20 KENFERF (RFAI1RREEED)
06:25 88 50.0 | FiHe06:25 RHEIZF (KREERE)
06:30 88 50. 0 | FiHe06:30 REFEF (KREERHR)
08:35 88 50.0 5| TiHfe08:35 RHEF (KEAERSE)
10:15 88 50. 0 5| THEe10:15 REEF (KREAERSE)
11:35 88 50.0 5| TiHAe11:35 RHEF (REAERSE)
12:50 88 50.0 5| THR012:50 KRENFERF (RF1RELEE
14:05 88 50. 0 5| THR@14:05 KREFEF (CRATRREE)
15:25 88 50. 0 5| TfRe15:25 KENFERF (RE1EREER)
23| 792.0 (9%) 450. 0 3R3HKEC: 2458.0, PH: 6.4

unusual large postFgEt from yesterday (153), set to 150.0 ml.
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REXFEBIPH (10.34) 5FMPH (6.5) RERK, FHRE
REXRJEBIEC (2533.0) S5FMEC (3138.0) RER K, FHE
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G3-4_0, Day=8 (2025-05-20)
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G3-4

BfiE) | BRI (D) | EE (EH/AR) | XK R

06:15 80 50. 0 FH| {Ri%006:15 F& (REAHERSE)
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08:15 80 50.0 (Z=| {Ri%@08:15 Fz (FHEHE)
09:40 80 50.0 (Z=| 1Rig@09:40 Fz (KRAEHSE)
11:00 80 50. 0 =] Ri%e11:00 Fz (REAERESE)
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2it| 640.0 (8%) 400. 0 3203 KEC: 2850.0, PH: 6.4

FERERIPH (10.34) 5igEPH (6.5) REK K, AT
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LRGEBIEC (2450.0) 51REIEY (2850.0) REK K, BHEE.

EREBPH (10.4) 5igREME (6.5 RERK, FEE.

LRGERPH (10.4) S5iRBIE (6.4) RERK, BRE.




G3-4 0, Day=7 (2025-05-19)

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 3801 400
40 —
L 300 T
252 25
24244 099 3 ©
- 200 £
20 4 F143 >
83 - 100 -
Warning: lcol [FVI',| "FVO’'] missing I
0 = 02
( o v —_ ME P
— 60 +
5 - 31
C
S
o 40 L 30 :l
E
> 201 - 29
L
1.0 28
4
0.8 -
0.6 -
0.4
0.2
Warning: lcol ["WC1',  "WC2'] missing
I T ——— L —
2800 4 TargetEC=2500.0, TargetSetEC=2850.0 ¢ t
2600 -
x . ¢ X
o
2400 1 ¢~ ECB*10%
® ECC
| ) @ ° P @ v N
10+ TargetPH=6.5, TargetSetPH=6.4 —>—  PHB*10%
® PHC
8_
6_
! 4
~ 1501 Bylnikt @D8 01:32; ET=440 Fg=410.0 Ro=0 800
= I £
s 1 =
N ! N
> 100 - - <
< I E
E l 5
50 i E
o I o 3
p O &
U e s
S150{ZE| S| Za | B | iE | B [ B | | B | K | B[ ||/ [/ ||/ (K| [ [K|RB[B| KB 8005
c 1 c
= ByEt @D7 15:41: ET=531 Fg=410.0 Ro=nan ! L 600 =
X 100 - - ® ~
S ' ——
= 50 L
= - 200 §
b o —0—0—@—
0 A V=N V=N —p 0
0 1 2 3 4 5 6 7 ) 9 [ 10 11 |12 13 ] 14 1516 [ 17 ] 18 ] 19 ] 20 ] 21 | 22 | 23
~5150{2=|Z=(Z=| B | BB | BA [ [ B |2=|E=(Z=] B 5 5 i 5 5 5 i 5 5 5 i 5 800 5
c 1 c
% ByWoF:v @D8 01:32: ET=380 Fg=400.0 Ro=12.0 L 600 %’_
X 100 - >
< I =
S : - 400 =
i : - 200 5
H T ‘ °
|
1.0 p——p——a— 0
012z 27|25 W | BB [ [ [ BB [E=|25|25] B 5 5 i 5 5 5 i 5 5 5 i 5
0.6 -
0.4
0.2
0.0
1500 4 —_— | N
[ ] | _obs
1000 —@— PPFD_obs
500 -




31.0 A

30. 5 -

30. 0

29.5 A

M_E

660 760
m=785,n FV0=0

T
800

T
900

31. 25 A

31.00 A

30. 75 A

30. 50 ~

30. 25 A

30. 00 ~

——

M_E

m=545, FV0=0

30.0 A

29. 8 A

29.6

29. 4 -

—o—

M_E

545

550
m=875,n FV0=0

T
555

785

T T
790 795

m=635,m FV0=0

27.6

27. 4 -

27.2

27.0 -

26. 8

26. 6

——

M_Ww

635

640 645

31.

31.

30.

30.

30.

30.

27.

27.

27.

27.

26.

26.

25 -

00 -

75 A

50 -

25 -

00 -

——

M_E

m=635, FV0=0

30. 8

30. 6

30. 4

30. 2

30.0

29. 8 -

——

M_E

635

640 645

875

8é0
m=725,n FV0=0

T
885

27.

27.

27.

27.

26.

26.

26.

75 1

50 -

25 A

00 ~

75 -

50 A

25 -

—3

MW

75 A

50

25 A

00 -

75 -

50 -

——

M_W

725

730 735

T
600

T
700

T
800

m=785,m FV0=0

T
900

27.6

27. 4 -

27. 2 -

27.0

26. 8 -

26. 6

——

M_W

785

790 795

m=725, FV0=0

31.00 A

30. 75 A

30. 50 A

30. 25 A

30. 00 A

29.75 A

——

M_E

725

T T
730 735

m=545,m FV0=0

27.6 A

27. 4 -

27.2 A

27.0 A

26. 8

26.6

——

M_W

545

T
550

T
555

m=875,m FV0=0

27. 4 -

27.2 A

27.0 A

26. 8 -

26. 6

26. 4

——

M_W

875

880 885




hour

100

6:45
80
6:55
9:10 60
11:10 40
13:00
20
14:45
-0
% N
& ¢§




G3-4

BfiE) | EBETK (D) | EE (EH/AR) | XK SR

06:45 54 50.0 = {RRiB006:45 Fzh (REAEKEE)
06:55 54 50.0 5| {Ri%@06:55 F 3 (FAERSE)
09:10 54 50.0 |Z=| {Ri%e09:10 Fz1 (KREAEZBE)
11:10 54 50.0 =l RRiBe11:10 Fzh (REAKEE)
13:00 54 50.0 |Z=| {Ri%e13:00 Fz1 (KREEZEHE)
14:45 54 50.0 (Z=| 1Rige14:45 Fz1 (GREAEDSE)
Bit| 324.0 (6)%) 300.0 3Z U KEC: 3000.0, PH: 6.4

LOREBRTC R IR A Y (120 vs 88.0))

ZRIASLPRIERE68. 0 ml.

REFRGEMIPH (10.34) 5i&%EPH (6.5) RERK, BHRE
REXEBPH (10.34) 5FMPH (6.5) REKKA, BFHRE




G3-4_0, Day=6 (2025-05-18)
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